CHP 8

INTROCTION TO TRIGONOMETRY
(Assignment)

1. Write the values of sec 0°, sec 30°, sec 45°, sec 60° and sec 90°. What happens to sec x
when x increases from 0° to 90°7?
2. Given tan A = 5/12, find the other trigonometric ratios of the angle A..
3. Prove that 1/sec A —tan A-1/cosA=1/cos A -1/sec A + tan A
4. If sin 8 = 12/13, 0° < B8 < 90°, find the value of: sin2 8- cos2 6 /2 sin 6. cos B x 1/tan2 6
5. If sin (A + B) = 1 and tan (A — B) = 1/4/3, find the value of:

a) tanA+cotB
b) sec A—cosecB

6. If sec A = x + 1/4x, prove that sec A + tan A = 2x or 1/2x

3 3
Prove that: - tan Bz + cot 2
- l1+tan“0 1+cot“0

= sec O cosec O -2 sin O cos O

AtanB tanAmtB sin’B
If A + B = 90°, prove that: / fanAtan3 +
3 _ a L ‘\,, sinAsecB CcOs A_

= tan A

9. If sec 8 —tan 8 = x, show that: sec 8=1/2(x+1/x) and tan 6=1/2(1/x-x)
10. Prove the following identity: sin® 6+cos® 6/sin 6+cos 6= 1 —sin 6.cos 6
11. If 7sin2A + 3cos?A = 4, show that tan A =1/7/3

12. For any acute angle 6, prove that

1. sin20 + cos20 = 1
2. 1+ cot?0 = cosec?20

5 Prove that: V' sec?0 + cosec?d = tan 0 + cot 0

14.

Prove that:
sinA+cnsA+sinA—msA 2

sinA-cosA sinA+cosA  1_2coslA




15. If sin@ = x and sec O =y then find the value of cot 6.
16.
Simplify the following expressions:sin®8 +cos®a

Sim @ + Ccos @

17. Find the value of sec? 42° — cosec? 48°.

18. If (1 + cos A) (1 —cos A) =3/4, find the value of sec A

19. Find the value of tan(65° — 8) — cot(25° + 0)

20. Solve the equation for 8: cos?0/cot?0 — cos? 6=3

21. If A, B, and C are the interior angles of a AABC, show that tan(A+B/2)=cot C/2
22. If sin A = cos A, find the value of 2tan2A + sin2A + 1.

23. If tan(A — B) = 1/73 and tan (A + B) = V'3, find A and B.

24. If ac = r cos 0. sin @; y = r sinb. sin®; z = r cos ®. Prove that x2 + y2 + z2=1r2
25

3 tan 25°- tan 40° - tan 50° - tan 65°— % tan?60°
. 4(cos?29° + c0s261°)

Evaluate:

26.

cot A—cosA _ cosecA-1
cot A+cosA cosecA+1

27. If cosec A + cot A = m, show that m2-1/ m2 + 1= cos A.

28. Prove that: (sec 6 + tan 6)? = cosec 6 +1/cosec 6 -1

29. If cosec 0 + cot 8 = g, show that cosec 6 — cot 8 = 1/q and hence find the values of sin 8 and
sec 6

Prove that

Evaluate: 4cot?60° + sec?30° - 2sin?45°
30. sin®60° + cos?45°

31. If sec 8 + tan 6 = p, then find the value of cosec@
32. Evaluate: 4(sin430° + c0s460°) — 3(c0s245°-sin290°)

33.
2 o 2 °
Find the value of x if4(sec 2 ;mt 1 )— :—i- sin 90° + 3 tan® 56° X tan®* 34° = %
34.

IfA + B = 90° prove that

tanAtanB+tan A cotB _ sin’B
sin AsecB cosiA

= tan A

35. If cosB-sin@=V2 sind, prove that cos 6+ sinB=V2 cos 6



